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1 A person appointed on adhoc basis shall ________. 
 
(a) not be entitled to Earned Leave. 
(b) Be entitled to one day Earned Leave per month. 
(c) Be entitled to two days Earned Leave per month. 
(d) Be entitled to two & half days Earned Leave per month. 
ANS 
                                                                                  

1 rnFkZ vk/kkj ij fu;qDr O;fDr 

 

(a) vftZr NqV~Vh dk ik= ugha gksxkA 

(b) izfrekg ,d fnu dh vftZr NqV~Vh dk ik= gksxkA 

(c) izfrekg nks fnu dh vftZr NqV~Vh dk ik= gksxkA 

(d) izfrekg 2½ fnu dh vftZr NqV~Vh dk ik= gksxkA 

                                                                     

2 Which of the following statements is incorrect? 
 
Government Servants to whom CCS (Leave) Rules 1972 
applies shall continue to be governed by these rules while 
 
(a) on temporary transfer to the Indian Railways. 
(b) On temporary transfer to a State Government. 
(c) On foreign service within India. 
(d) All are correct. ANS                                                               
 

2 fuEu esa ls dkSulk dFku xyr gS\ 

 

ftu ljdkjh lsodksa ds ekeys esa lhlh,l ¼NqV~Vh½ fu;ekoyh ykxw gksrh gSa] os fuEu ds 

nkSjku mlh fu;ekoyh ls “kkflr gksrs jgsaxs 

 

(a) Hkkjrh; jsyos esa vLFkk;h rcknyk gksus ijA 

(b) jkT; ljdkj dks vLFkk;h rcknyk gksus ijA 

(c) Hkkjr esa foHkkxsrj lsok ijA 

(d) lHkh lgh gSaA  

 

3 Which of the following is not a feature of commutation of one 
kind of leave into another? 
 
(a) Commutation is done on the request of the Government 
 servant. 
(b) In exceptional cases commutation may be done by the 
 Government after retirement. ANS 
(c) Commutation may be done for the leave already availed. 
(d) Commutation is subject to adjustment of leave salary.  
               

3 ,d izdkj dh NqV~Vh ds nwljh izdkj dh NqV~Vh esa ifjorZu ds fy, fuEu esa ls dkSu ,d 

fo”ks’krk ugha gS\ 

 

(a) ifjorZu ljdkjh lsod ds vuqjks/k ij fd;k tkrk gSA 

(b) vlk/kkj.k ekeyksa esa ljdkj }kjk lsokfuo`fRr ds ckn ifjorZu fd;k tk ldrk 

 gSA 

(c) igys ls yh xbZ NqV~Vh ds fy, ifjorZu fd;k tk ldrk gSA 

(d) ifjorZu NqV~Vh osru ds lek;kstu ds v/;/khu gSA 

               

 

4 In case half a day’s casual leave is at the credit of Government 
servant and he avails the same in the afternoon of the working 
day, but could not attend the office the next day due to 
sickness in that case 
 
(a) the half day casual leave will be changed to half day 
 Earned Leave. 
(b) the half day casual leave will be changed to one day 
 Earned Leave. 
(c) the half day casual leave will be combined with regular 
 leave for the next day. ANS 
(d) None of the above.                                                            
 

4 ;fn ljdkjh lsod ds [kkrs esa vk/ks fnu dk vkdfLed vodk”k gS vkSj dk;Zfnol ds 

nksigjckn og ml vodk”k dks Hkh ys ysrk gS] ysfdu og chekjh ds dkj.k vxys fnu 

dk;kZy; esa ugha vk ldk] ,sls ekeys esa 

 

(a) vk/ks fnu dk vkdfLed vodk”k vk/ks fnu ds vftZr vodk”k esa cny fn;k 

 tk,xkA 

(b) vk/ks fnu dk vkdfLed vodk”k ,d fnu dh vftZr NqV~Vh esa cny fn;k 

 tk,xkA 

(c) vk/ks fnu dk vodk”k vxys fnu ds fy, fu;fer NqV~Vh ds lkFk tksM+ fn;k 

 tk,xkA 

(d) mi;ZDr esa ls dksbZ ughaA 

 

5 If the Medical Authority is unable to say with certainty that the 
Government servant will never again be fit for service, leave 
not exceeding _____________ in all may be granted. 
 
(a) 06 months 
(b) 12 months ANS 
(c) 24 months 
(d) 60 months                                                                        
 

5 ;fn fpfdRlk izkf/kdkjh iDds rkSj ij ;g dgus dh fLFkfr esa ugha gS fd ljdkjh lsod 

dHkh Hkh lsok ds ;ksX; ugha gks ldsxkA dqy feykdj vf/kd ls vf/kd--------------dh 

NqV~Vh eatwj dh tk ldrh gS 

 

(a) 06 eghus 

(b) 12 eghus 

(c) 24 eghus 

(d) 60 eghus 

 

6 Half Pay Leave upto a maximum of ___ days is allowed to be 
commuted during the entire service (without production of 
medical certificate) where such leave is utilized for an 
approved course of study certified to be in the public interest 
by the leave sanctioning authority. 
 

(a) 90 
(b) 120 
(c) 150 
(d) 180 ANS  

6 iwjs lsokdky esa vf/kd ls vf/kd---------------fnu dh v)Zosru NqV~Vh dks ¼MkDVjh 

izek.k&i= izLrqr fd, fcuk½ ifjofrZr djus dh vuqefr nh tkrh gS tcfd NqV~Vh eatwj 

djus okys vf/kdkjh }kjk ;g izekf.kr dj fn;k tk, fd ,slh NqV~Vh dk iz;ksx v/;;u 

ds ,sls vuqeksfnr ikB~;Øe ds fy, fd;k x;k gS tks tufgr esa gS 
 

(a) 90 

(b) 120 

(c) 150 

(d) 180                                                             

7 Leave Not Due on medical certificate may be granted to a 
maximum of _____ days during entire service. 
 

(a) 120 
(b) 240 
(c) 360 ANS 
(d) 480                                                                               

7 MkDVjh izek.k&i= ij vtZu”kks/; NqV~Vh iwjs lsokdky esa vf/kd ls vf/kd----------fnu 

ds fy, eatwj dh tk ldrh gS 
 

(a) 120 

(b) 240 

(c) 360 

(d) 480                                                            

 



8 On any one occasion, a Government servant may be granted 
Earned Leave upto ______ months for undergoing treatment 
for Pulmonary Tuberculosis. 
 
(a) 9 
(b) 12 
(c) 18 ANS 
(d) 24                                                                                    
 

8 QqIQqlh risfnd ds bykt ds fy, ljdkjh lsod dks fdlh ,d ekSds ij-------------eghus 

rd dh vftZr NqV~Vh eatwj dh tk ldrh gS 

 

(a) 9 

(b) 12 

(c) 18 

(d) 24                                                              

 

9 Encashment of Earned Leave along with Leave Travel 
Concession can be availed upto a maximum of 10 days in 
aggregate during the entire career. 
 
(a) 60 ANS 
(b) 120 
(c) 240 
(d) 300                                                                                  
 

9 NqV~Vh ;k=k fj;k;r lfgr vftZr NqV~Vh ds udnhdj.k dk tks ykHk vf/kd ls vf/kd 10 

fnu ds fy, mBk;k tk ldrk gS] lewps lsokdky esa dqy feykdj fdrus fnuksa dh vftZr 

NqV~Vh ds udnhdj.k dk ykHk mBk;k tk ldrk gS 

 

(a) 60 

(b) 120 

(c) 240 

(d) 300                                                            

 

10 If a Government servant proceeding on leave for a period of 90 
days, he may be allowed an advance in lieu of leave salary 
upto pay and allowances of ___________. 
 
(a) 01 month ANS 
(b) 02 months 
(c) 03 months 
(d) No advance is admissible.                                                  
 

10 ;fn dksbZ ljdkjh lsod 90 fnu dh NqV~Vh ij tk jgk gS rks mls---------------ds osru 

vkSj HkRrksa rd ds NqV~Vh osru ds ,ot esa vfxze iznku fd;k tk ldrk gSA 

 

(a) 01 eghus 

(b) 02 eghus 

(c) 03 eghus 

(d) dksbZ Hkh vfxze Lohdk;Z ugha gSA 

 

11 Which of the following is not correct in respect of Child 
Adoption Leave? 
 
(a) Admissible on valid adoption of a child below the age of 
one year. 
(b) Can be combined with other kind of leave. 
(c) Both male and female government servants are entitled 
on valid adoption of a child. ANS 
(d) All are correct.                                                                  
 

11 cky nRrd&xzg.k NqV~Vh ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

(a) ,d o’kZ ls de vk;q rd ds cPps ds oS/k nRrd&xzg.k dh fLFkfr esa Lohdk;ZA 

(b) bls vU; NqV~Vh ds lkFk tksM+k tk ldrk gSA 

(c) cPps ds oS/k nRrd&xzg.k dh fLFkfr esa iq#’k rFkk efgyk ljdkjh lsod&&nksuksa 

gdnkj gSaA 

(d) lHkh lgh gSA 

 

12 Which of the following is not correct in respect of Child Care 
Leave? 
 
(a) Admissible if the age of the child is less than 18 years. 
(b) Leave Travel Concession can be availed during Child 
Care Leave. ANS 
(c) May be granted upto three spells in a year. 
(d) All are correct.                                                                  
 

12 cky&ns[kHkky NqV~Vh ds laca/k esa fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

(a) Lohdk;Z gksrh gS ;fn cPps dh vk;q 18 o’kZ ls de gks 

(b) NqV~Vh ;k=k fj;k;r dk ykHk cky&ns[kHkky NqV~Vh ds nkSjku mBk;k tk ldrk gS 

(c) o’kZ easa vf/kd ls vf/kd rhu ckj eatwj dh tk ldrh gS 

(d) lHkh lgh gSA                                                

 

13 Special Disability Leave upto _______ months may be granted 
to a Government servant who is disabled by injury in 
consequence of the due performance of his official duties. 
 
 
(a) 12 
(b) 18 
(c) 24 ANS 
(d) 36                                                                                  
 

13 tks ljdkjh lsod viuh ljdkjh M~;wVh dk fuokZg djus ds nkSjku yxh pksV ds 

QyLo:i fu%”kDr cuk fn;k x;k gS mls--------------eghus rd dh fo”ks’k fu%”kDrrk 

NqV~Vh eatwj dh tk ldrh gS 

 

 

(a) 12 

(b) 18 

(c) 24 

(d) 36                                                             

 

14 The report of veracity of caste certificate by the District 
Authorities is to be sent to the Appointing Authorities within 
___________ of the receipt of request. 
 
(a) one month ANS 
(b) two months 
(c) three months 
(d) four months                                                                
 

14 ftyk vf/kdkfj;ksa }kjk tkfr izek.k&i= dh lPpkbZ laca/kh fjiksVZ vuqjks/k dh izkfIr ls----

---------ds Hkhrj fu;ksDrk vf/kdkfj;ksa dks Hkst nh tkuh pkfg, 

 

(a) ,d eghuk 

(b) nks eghus 

(c) rhu eghus 

(d) pkj eghus 

 

15 A person belonging to ________ religion cannot be deemed to 
be a member of Scheduled Caste. 
 
(a) Sikh 
(b) Buddhist 
(c) Jainism ANS 
(d) Hindu                                                                               
 

15 ----------------/kekZoyach O;fDr dks vuqlwfpr tkfr dk lnL; ugha le>k tk ldrk 
 

(a) flD[k 

(b) ckS) /keZ 

(c) tSu /keZ 

(d) fganw                                                              

 



16 The concept of own merit / merit in promotion is not applicable 
in the case of _________. 
 
(a) Direct Recruitment 
(b) Promotion by Selection Method. 
(c) Promotion by Non Selection Method ANS 
(d) Applicable to all of the above.                                     
 

16 inksUufr ds ekeys esa viuh ;ksX;rk@;ksX;rk dh vo/kkj.kk----------esa ykxw ugha gksrh 

 

(a)  lh/kh HkrhZ 
(b)  p;u fof/k ls inksUufr 
(c)  xSj&p;u fof/k ls inksUufr 
(d)  mi;qZDr lHkh ekeyksa esa ykxw gksrh gSA 
 

17 In which of the following conditions, the application for 
appointment of a Government servant may be forwarded to 
UPSC? 
 
(a) He is under suspension. 
(b) Sanction for prosecution, where necessary, has been 
 accorded by the competent authority. 
(c) The conduct of a Government servant is under investigation by 
 CBI but no chargesheet has been issued. ANS 
(d) Cannot be forwarded in any of the above conditions.            
                                                                                        

17 fuEu esa ls dkSulh fLFkfr esa HkrhZ ds fy, ljdkjh lsod dk vkosnu&i= ;wih,llh dks 

vxzsf’kr fd;k tk ldrk gS\ 

 

(a) tc og fuyacuk/khu gksA 

(b) tgka t:jh gS ogka l{ke izkf/kdkjh }kjk vfHk;kstu dh eatwjh iznku dh tk pqdh 

gSA 

(c) ljdkjh lsod ds vkpj.k dh lhchvkbZ }kjk tkap dh tk jgh gS fdarq dksbZ 

vkjksi&i= tkjh ugha fd;k x;k gSA 

(d) mi;qZDr esa ls fdlh Hkh fLFkfr esa vxzsf’kr ugha fd;k tk ldrkA 

                                                                     

18 Which of the following is a condition to seek voluntary 
retirement from Group ‘A’ post? 
 
(a) A Government servant should give a notice of not less 
 than six months. 
(b) A Government servant should have attained the age of 
 fifty years. ANS 
(c) A Government servant should have entered the 
 Government service before attained the age of 32 years. 
(d) None of the above.                                                    
 

18 lewg ^d* in ls LoSfPNd lsokfuo`fRr izkIr djus ds fy, fuEu esa ls dkSu ,d “krZ gS\ 

 

(a) ljdkjh lsod dks de ls de N% eghus dk uksfVl nsuk pkfg,A 

(b) ljdkjh lsod us 50 o’kZ dh vk;q izkIr dj yh gSA 

(c) ljdkjh lsod us 32 o’kZ ls de vk;q ij ljdkjh lsok vkjaHk dh gksA 

(d) mi;qZDr esa ls dksbZ ughaA    

 

19 Annual Confidential Report / APAR should be written within 
_____ month(s) of the expiry of report period. 
 
(a) 01 ANS 
(b) 03 
(c) 02 
(d) 06                                                                                 
 

19 okf’kZd xksiuh; fjiksVZ@,ih,vkj fjiksVZ vof/k lekIr gksus ds--------------eghus ¼eghuksa½ 

ds Hkhrj fy[kh tkuh pkfg, 

 

(a) 01 

(b) 03 

(c) 02 

(d) 06                                                              

 

20 Prior Permission of the prescribed authority is necessary in 
case Group ‘A’ officer accepts any commercial employment 
within ________ after retirement. 
 
(a) 06 months 
(b) 01 year ANS 
(c) 18 months 
(d) 02 years                                                                        
 

20 ;fn lewg ^d* vf/kdkjh lsokfuo`fRr ds---------------ds Hkhrj dksbZ okf.kfT;d jkstxkj 

Lohdkj djrk gS rks l{ke vf/kdkjh dh iwoZ&vuqefr t:jh gS 

 

(a) 06 eghus 

(b) 01 o’kZ 

(c) 18 eghus 

(d) 02 o’kZ 

 

21 A fresh recruit to Central Government is allowed LTC to Home 
Town on ____ occasions in the first two block of four years. 
 
(a) 8 
(b) 4 
(c) 6 ANS 
(d) 2            
 

21 dsUnzh; ljdkj esa ubZ HkrhZ okys deZpkfj;ksa dks pkj o’kksaZ ds igys nks Cykdksa esa-----------

-----ekSdksa ij x`guxj dk ,yVhlh eatwj fd;k tkrk gS 

(a) 8 

(b) 4 

(c) 6 

(d) 2                               

 

22 Any transaction in movable property by the Government 
Servant should be reported to the prescribed authority if the 
value of such property exceeds the prescribed limit within 
_________ of such transaction. 
 
(a) 1 month 
(b) 2 months ANS 
(c) 3 months 
(d) 4 months    
 

22 ljdkjh lsod }kjk py laifRr laca/kh fdlh Hkh ysunsu ds ckjs esa l{ke vf/kdkjh dks---

-----------ds Hkhrj lwfpr fd;k tkuk pkfg, ;fn ,slh lafiRr dk ewY; fu/kkZfjr lhek ls 

c<+dj gks  

 

(a) 1 eghuk 

(b) 2 eghus 

(c) 3 eghus 

(d) 4 eghus 

 

23 Customary gifts exceeding the value of Rs. _______ in case of 
Group ‘A’ cadre received from near relatives needs to be 
reported to the Government. 
 
(a) 5000 
(b) 7000 ANS 
(c) 10000 
(d) 20000      
 

23 lewg ^d* laoxZ ds vf/kdkfj;ksa ds ekeys esa lacaf/k;ksa ls izkIr #-----------------ls 

vf/kd ewY; ds fjokth migkjksa ds ckjs esa ljdkj dks lwfpr djuk gksxk 

 

(a) 5000 
(b) 7000  
(c) 10000 
(d) 20000      
 



24 Basic Pay for the purpose of House Rent Allowance means 
___. 
 
(a) Band Pay 
(b) Grade Pay 
(c) Band Pay plus Grade Pay ANS 
(d) Band Pay plus Grade Pay plus NPA.    
 

24 edku fdjk;k HkRrs ds iz;kstu ds fy, ewy osru dk vk”k;---------------ls gS 

 

(a) cSaM osru 

(b) xzsM osru 

(c) cSaM osru tek xzsM osru 

(d) cSaM osru tek xzsM osru tek ,uih, 

 

25 House Rent Allowance is admissible upto ____ months while 
on leave with medical certificate. 
 
(a) 6 
(b) 8 ANS 
(c) 9 
(d) 12                          
 

25 MkDVjh izek.k&i= ij NqV~Vh ds nkSjku edku fdjk;k HkRrk-------------eghuksa ds fy, 

Lohdk;Z gksrk gS 

 

(a) 6 
(b) 8 
(c) 9 
(d) 12                          
 

26 Suspension should not be resorted to when the Government 
Servant 
 
(a) is charged with offence involving moral turpitude. 
(b) is absconding. ANS 
(c) Refuses to carry out written orders of superior officers. 
(d) He should be suspended for any of the above activities 
on his part. 
                                                      

26 ml fLFkfr esa fuyacu ugha fd;k tkuk pkfg, tc ljdkjh lsod 

 

(a) uSfrd pfj=ghurk ds vijk/k ls vkjksfir gksA 

(b) ykirk gksA 

(c) mPpkf/kdkfj;ksa ds fyf[kr vkns”kksa dk ikyu djus ls badkj djrk gksA 

(d) mls mi;qZDr fdlh Hkh fLFkfr esa fuyafcr fd;k tkuk pkfg,A 

                                                                  

27 In case of dowry death, a Government Servant should be 
placed under suspension 
 
(a) immediately if he is arrested. ANS 
(b) if he is arrested and detained for 24 hours. 
(c) if he is arrested and detained for 48 hours. 
(d) Immediately after he has been produced before a 
Magistrate. 
                                                         

27 ngst laca/kh e`R;q dh fLFkfr esa ljdkjh lsod dks fuyafcr fd;k tkuk pkfg, 

 

(a) rRdky] ;fn og fxj¶rkj dj fy;k x;kA 

(b) ;fn og fxj¶rkj dj fy;k x;k gS vkSj 24 ?kaVs gokykr esa j[kk x;k gSA 

(c) ;fn og fxj¶rkj dj fy;k x;k gS vkSj 48 ?kaVs rd gokykr esa j[kk x;k gSA 

(d) mls eSftLVªsV ds lkeus is”k fd, tkus ds rRdky cknA 

                                                                    

28 Which of the following is not an obligatory recovery from 
Subsistence Allowance? 
 
(a) Repayment of loans and advances. 
(b) Contribution to CGHS. 
(c) Refund of GPF advances. ANS 
(d) House rent.                                     
 

28 fuEu esa ls dkSu fuokZg HkRrs esa ls dh tkus okyh vfuok;Z olwyh gS 

 

(a) _.kksa rFkk vfxzeksa dh okilh 

(b) lhth,p,l va”knku 

(c) thih,Q vfxze dh okilh 

(d) edku fdjk;kA                                   

 

29 If a Government servant retires while departmental 
proceedings are pending, on retirement he is not entitled to  
 
(a) Provisional pension 
(b) Encashment of Leave 
(c) Commutation of provisional pension. ANS 
(d) Entitled to all of the above.                  
 

29 ;fn dksbZ ljdkjh lsod foHkkxh; dk;Zokfg;ksa ds nkSjku lsokfuo`Rr gks tkrk gS rks 

lsokfuo`fRr ij og fuEu dk gdnkj ugha gksxk 

 

(a) vuafre isa”ku 

(b) NqV~Vh dk udnhdj.k 
(c) vuafre isa”ku dk lkjka”khdj.k 
(d) mi;qZDr lHkh ikus dk gdnkj gSA 
 

30 Which of the following is not the condition for allotment of 
government accommodation to the son / daughter of a 
Government Servant who is occupying a government 
accommodation on his retirement? 
 
(a) The son/daughter should have been residing with the 
 Government Servant continuously for the last three years 
 from the date of retirement of the Government Servant. 
(b) The son/daughter should not have drawn House Rent 
 Allowance for that period if he/she is residing with the 
 Government Servant. 
(c) He/She should apply to the competent authority for 
 allotment within two months from the date of retirement of 
 the Government Servant. 
(d) None of the above. ANS 
                                                                 

30 ljdkjh lsod dh lsokfuo`fRr gksus ij mldk tks iq=@iq=h ljdkjh vkokl esa jg 

jgk@jgh gS mls ljdkjh vkokl ds vkcaVu ds fy, fuEu eas ls dkSu ,d “krZ ugha gS\ 

 

(a) iq=@iq=h ljdkjh lsod dh lsokfuo`fRr dh rkjh[k ls de ls de fiNys rhu o’kksaZ 

rd yxkrkj ljdkjh lsod ds lkFk jgk@jgh gksA 

(b) iq=@iq=h us ml vof/k ds nkSjku tc og ljdkjh lsod ds lkFk jgk@jgh gks 

edku fdjk;k HkRrk u fy;k gksA 

(c) vkcaVu ds fy, mls ljdkjh lsod dh lsokfuo`fRr dh rkjh[k ls nks eghus ds 

Hkhrj l{ke vf/kdkjh dks vkosnu djuk pkfg,A 

(d) mi;qZDr esa ls dksbZ ughaA 

                                                                     

31 In the event of death of an allottee in service, the permissible 
period of retention of Government accommodation is ___ 
months. 
 
(e) 6 
(f) 12 
(g) 18 
(h) 24 ANS                                                     
 

31 lsok esa jgrs gq, vkcafVrh dh e`R;q gks tkus dh fLFkfr esa ljdkjh vkokl j[kus dh 

vuqeR; vof/k------------eghus gS 

 

(a) 6 
(b) 12 
(c) 18 
(d) 24 ANS                                                     
 



32 Salary for the purpose of Income Tax does not include 
 
(e) Overtime Allowance 
(f) Advance of pay 
(g) Children Educational Assistance. ANS 
(h) Subsistence Allowance                       
 

32 vk;dj ds iz;kstu ds fy, osru eas fuEu “kkfey ugha gksrk 

 

(a) le;ksifj HkRrk 

(b) osru vfxze 

(c) cky “kSf{kd HkRrk 

(d) fuokZg HkRrk 

 

33 Which of the following is not correct? 
During the pendency of Disciplinary action for misuse of Leave 
Travel Concession 
 
(e) The disputed claim will be withheld. ANS 
(f) Further LTC facility will not be allowed. 
(g) The official will be required to deposit the amount of 
 advance drawn. 
(h) All are correct.                                         
 

33 fuEu esa ls dkSulk dFku lgh ugha gS\ 

NqV~Vh ;k=k fj;k;r ds nq:i;ksx ds fy, vuq”kklfud dkjZokbZ ds yafcr jgus ds nkSjku  

 

(a) fookfnr nkok jksds j[kk tk,xkA 

(b) vkSj vkxs ,yVhlh eatwj ugha fd;k tk,xkA 

(c) deZpkjh dks fy;k x;k vfxze ykSVkus dks dgk tk,xkA 

(d) lHkh lgh gSA 

 

34 Verification of services of the Government Servant should be 
completed on completion of ___ years of service. 
 
(a) 15 
(b) 20 
(c) 25 ANS 
(d) 33                                               
 

34 ljdkjh lsod dh lsokvksa dk lR;kiu-----------------o’kZ dh lsok iwjh gksus ij iwjk dj 

fy;k tkuk pkfg, 

 

(a) 15 

(b) 20 

(c) 25 

(d) 33                                                         

 

35 Which of the following procedure is not necessarily required by 
the Government servant to change the name? 
 
(a) Execution of a Deed. 
(b) Publication of change of name in a prominent local 

 newspaper. 
(c) Publication of change of name in the Gazette of India. 
(d) All of the above are required. ANS 
                                                                 

35 ljdkjh lsod dks viuk uke cnyus ds fy, fuEu esa ls dkSulh fØ;kfof/k dk ikyu 

djuk t:jh ugha gS\ 

 
(a) foys[k dk fu’iknu 
(b) fdlh izeq[k LFkkuh; lekpkj&i= esa uke ifjorZu dk izdk”kuA 
(c) Hkkjr ds jkti= esa uke ifjorZu dk izdk”kuA 
(d) mi;qZDr lHkh t:jh gSA 
                                               

36 Cycle Allowance is payable at the rate of Rs. _____ per 
month. 
 
(a) 50 
(b) 60 ANS 
(c) 100 
(d) 150           
 

36 Lkbfdy HkRrk #-------------izfrekg dh nj ls ns; gS 

 

(a) 50 

(b) 60 

(c) 100 

(d) 150                                                        

 

37 In a government office if a cashier is handling an average 
monthly cash of Rupees Ten lakhs for disbursement, he shall 
be entitled for cash handling allowance of Rs. ____ per month. 
 
(a) 300 
(b) 400 
(c) 500 
(d) 600 ANS                 
 

37 ;fn fdlh ljdkjh dk;kZy; esa [ktkaph laforj.k ds fy, izfrekg vkSlru nl yk[k #i, 

dh udnh laHkky jgk gS rks og #--------------izfrekg dh nj ls udnh laHkky HkRrk 

ikus dk gdnkj gksxk 

 

(a) 300 

(b) 400 

(c) 500 

(d) 600                                                      

 

38 Invalid Pension is granted to a Government servant who 
retires ________. 
 
(a) on premature retirement. 
(b) on medical grounds. ANS 
(c) on voluntary retirement. 
(d) on superannuation.   
 

38 vleFkZrk isa”ku ml ljdkjh lsod dks eatwj dh tkrh gS tks------------lsokfuo`Rr gksrk 

gS 

 

(a) le;&iwoZ lsokfuo`fRr ij 

(b) MkDVjh vk/kkj ij  

(c) LoSfPNd lsokfuo`fRr ij 

(d) vf/kokf’kZdh ij 

 

39 Which of the following is not the prescribed authority to issue 
the caste certificate to a person belonging to Scheduled Caste 
category? 
 
(a) I Class Stipendiary Magistrate 
(b) Executive Magistrate 
(c) Extra-Assistant Commissioner 
(d) All of the above. ANS                  

39 vuqlwfpr tkfr Js.kh ds O;fDr dks tkfr izek.k&i= tkjh djus ds fy, fuEu esa ls dkSu 

,d fu/kkZfjr izkf/kdkjh ugha gS\ 

 
(a) igys ntsZ dk o`fRrHkksxh eSftLVªsV 
(b) ,sDthD;wfVo eSftLVªsV 
(c) vfrfjDr lgk;d vk;qDr 
(d) mi;qZDr lHkh  
 



 
40 The recommendations of the Departmental Promotion 

Committee stands accepted unless the Appointing Authority 
disagrees within ______. 
 
(a) one month 
(b) two months 
(c) three months ANS 
(d) four months.                    
 

40 foHkkxh; inksUufr lfefr dh flQkfj”ksa rc rd Lohd`r ekuh tkrh gS tc rd fd 

fu;ksDrk izkf/kdkjh--------------eghus ds Hkhrj muls vlger ugha gksrk 

 

(a) ,d eghuk 
(b) nks eghus 
(c) rhu eghus 
(d) pkj eghus 
 

41 The validity of panel of the Departmental Promotion 
Committee is _______. 
 
(a) six months 
(b) nine months 
(c) twelve months ANS 
(d) fifteen months                 
 

41 foHkkxh; inksUufr lfefr ds iSuy dh oS/krk----------------gksrh gS 

 

(a) N% eghus 

(b) ukS eghus 

(c) ckjg eghus 

(d) ianzg eghus 

 

42 Second Departmental Promotion Committee may be held if 
 
(a) eligible persons were omitted to be considered. 
(b) ineligible persons were considered by mistake. 
(c) for filling up unforeseen vacancies due to voluntary 
retirement. ANS 
(d) All of the above.          
 

42 foHkkxh; inksUufr lfefr dh nwljh cSBd vk;ksftr dh tk ldrh gS ;fn 

 

(a) ik= vH;FkhZ fopkj fd, tkus ls jg x, FksA 

(b) xyrh ls vik= vH;fFkZ;ksa ij fopkj dj fy;k x;k FkkA 

(c) LoSfPNd lsokfuo`fRr ds dkj.k vizR;kf”kr fjfDr;ksa dks Hkjus ds fy,A 

(d) mi;qZDr lHkhA 

 

43 The sealed cover case of the affected officer may be put up in 
the next Departmental Promotion Committee to consider for 
adhoc promotion if the disciplinary case is not concluded even 
after ________ since the first Departmental Promotion 
Committee and the affected officer is not under suspension. 
 
(a) One year 
(b) 18 months 
(c) Two years ANS 
(d) Cannot be considered till the disciplinary case is 
concluded.          
                         

43 izHkkfor vf/kdkjh dk eksgjcan fyQkQs dk ekeyk vxyh inksUufr lfefr esa rnFkZ 

inksUufr ij fopkj djus ds fy, j[kk tk ldrk gS c”krsZ fd vuq”kklfud ekeys dks 

igyh foHkkxh; lfefr dh cSBd ds-------------ckn Hkh vafre :i ugha fn;k x;k gS vkSj 

vf/kdkjh fuyafcr ugha gS 

 

(a) ,d o’kZ 

(b) 18 eghus 

(c) nks o’kZ 

(d) vuq”kklfud ekeys dks vafre :i fn, tkus rd fopkj ugha fd;k tk ldrkA 

                                                                     

44 Inquiry as laid down in the CCS (CCA) Rules may not be held 
in case of  
 
(a) Withholding of promotions. ANS 
(b) Compulsory retirement 
(c) Removal from service 
(d) Inquiry is mandatory for all of the above penalties. 
                               

44 lhlh,l ¼lhlh,½ fu;ekoyh esa ;Fkkfu/kkZfjr tkap fuEu ekeys esa ugha dh tk ldrh 

 

(a) inksUufr;ksa dks jksds j[kuk 

(b) vfuok;Z lsokfuo`fRr 

(c) lsok ls gVkuk 

(d) mi;qZDr lHkh naMksa esa tkap vfuok;Z gSA 

                                                                    

45 An appeal against the order of penalty has to be preferred 
within _____ days of receipt of the order appealed against. 
 
(a) 15 
(b) 30 
(c) 45 ANS 
(d) 60          
 

45 naM ds vkns”k ds fo#) vihy] ftl vkns”k ds fo#) vihy dh tk jgh gS mldh izkfIr 

ds-----------------fnu ds Hkhrj dh tkuh pkfg, 

 

(a) 15 

(b) 30 

(c) 45 

(d) 60                                                             

 

46 Which of the following statements is not correct? 
 
On an appeal filed to the Appellate Authority against the order 
of penalty, the Appellate Authority 
 
(a) may maintain status quo in respect of the penalty 
 imposed. 
(b) may reduce the penalty already imposed. 
(c) cannot enhance the penalty already imposed. ANS 
(d) All the statements are correct.    
 

46 fuEu esa ls dkSulk dFku lgh ugha gS\ 

 

naM ds vkns”k ds fo#) vihyh; vf/kdkjh dks vihy fd, tkus ij] vihyh; vf/kdkjh 

 

(a) yxk, x, naM dks ysdj ;FkkfLFkfr cuk, j[k ldrk gSA 

(b) igys ls yxk, x, naM dks ?kVk ldrk gSA 

(c) igys ls yxk, x, naM dks c<+k ugha ldrkA 

(d) lHkh dFku lgh gSaA                

 

47 The Appellate Authority may exercise its power of Revision of 
penalty order within _____ months of the date of the order to 
be revised. 
 
(a) 3 
(b) 4 
(c) 6 ANS 
(d) 8                 
 

47 vihyh; vf/kdkjh] la”kksf/kr fd, tkus okys vkns”k dh rkjh[k ds--------------eghus ds 

Hkhrj naM dks la”kksf/kr djus ds vius vf/kdkj dk iz;ksx dj ldrk gS 

 

(a) 3 

(b) 4 

(c) 6 

(d) 8                                                               

 



48 A Government Servant is deemed to have been placed under 
suspension if he is 
 
(a) detained in custody on a criminal charge for a period 
 exceeding 36 hours. 
(b) detained in custody on any other charge for a period 
 exceeding 48 hours. ANS 
(c) detained in custody on a criminal charge for a period 
 exceeding 24 hours. 
(d) detained in custody on any other charge for a period 
 exceeding 24 hours. 
                                    

48 ljdkjh lsod dks fuyafcr le> fy;k tkuk pkfg, ;fn mls 

 

(a) fdlh vkijkf/kd vkjksi esa 36 ?kaVs ls vf/kd le; ds fy, fgjklr esa j[kk 

tkrk gSA 

(b) fdlh vU; vkjksi esa 48 ?kaVs ls vf/kd le; ds fy, fgjklr esa j[kk tkrk gSA 

(c) fdlh vkijkf/kd vkjksi esa 24 ?kaVs ls vf/kd ds fy, fgjklr esa j[kk tkrk gSA 

(d) fdlh vU; vkjksi esa 24 ?kaVs ls vf/kd ds fy, fgjklr esa j[kk tkrk gSA 

                                                                     

49 The cases of suspension should be reviewed within ____ days 
from the effective date of the order of suspension. 
 
(a) 45 
(b) 60 
(c) 90 ANS 
(d) 120          
 

49 fuyacu ds ekeyksa dh] fuyacu ds vkns”k dh rkjh[k ds---------------fnuksa ds Hkhrj 

leh{kk dh tkuh pkfg, 

 

(a) 45 

(b) 60 

(c) 90 

(d) 120                                                        

 

50 For suspension to remain valid, it should be reviewed and 
extended for a period not more than _____ days at a time. 
 
(a) 60 
(b) 90 
(c) 120 
(d) 180 ANS        
 

50 fuyacu dks oS/k j[kus ds fy, mldh leh{kk dh tkuh pkfg, vkSj mls ,d ckj esa 

vf/kd ls vf/kd----------------fnu ds fy, c<+k;k tkuk pkfg, 

 

(a) 60 

(b) 90 

(c) 120 

(d) 180                                                       

 

51 Which of the following is not enforceable recovery from 
Subsistence Allowance? 
 
(a) Recovery of loss to Government. ANS 
(b) PLI Premium. 
(c) Co-operative society dues 
(d) Income tax.               
 

51 fuEu esa ls dkSu fuokZg HkRrs esa ls dh tkus okyh izorZuh; olwyh ugha gS\ 

 

(a) ljdkj dks gqbZ {kfr dh olwyh 
(b) ih,yvkbZ fdLr 
(c) lgdkjh lkslk;Vh dh nsunkjh 
(d) vk;dj 
 

52 By withholding / withdrawing part of the pension, the pension 
should not be reduced below Rs. ______ per month. 
 
(a) 1500 
(b) 2500 
(c) 3500 ANS 
(d) 4500                           
 

52 isa”ku ds fgLls dks jksdus@okfil ysus ds ckn isa”ku ?kVkdj izfrekg #-----------ls de 

ugha dh tkuh pkfg, 

 

(a) 1500 

(b) 2500 

(c) 3500 

(d) 4500                                                      

 

53 Departmental proceedings after retirement cannot be instituted 
in respect of any event which took place or the cause of action 
arose more than _____ years before such institution. 
 
(a) 3 
(b) 4 ANS 
(c) 5 
(d) 6                     
 

53 lsokfuo`fRr ds ckn ,slh fdlh ?kVuk ds ckjs esa foHkkxh; dk;Zokgh “kq: ugha dh tk ldrh 

tks ,slh dkjZokbZ “kq: fd, tkus ls----------------o’kksZa ls vf/kd igys ?kVh Fkh ;k 

dkjZokbZ dk dkj.k iSnk gqvk Fkk 

 

(a) 3 

(b) 4 

(c) 5 

(d) 6                                                          

 

54 Which of the following does not mean matter relating to the 
conditions of service or service matter? 
 
(a) Recruitment 
(b) Fixation of pay 
(c) Seniority 
(d) None of the above. ANS           
 

54 lsok dh “krksZa vFkok lsok ekeys ds laca/k esa fuEu esa ls fdldk vk”k; ekeys ls ugha gS\ 

 

(a) HkrhZ 

(b) osru fu/kkZj.k 

(c) ofj’Brk 

(d) mi;qZDr esa ls dksbZ ugha 

 

55 If no time limit is prescribed in the order passed by the Central 
Administrative Tribunal, the order should be complied with 
within ___ months of the receipt of the order. 
 
(a) 2 
(b) 3 
(c) 4 
(d) 6 ANS                      
 

55 ;fn dsUnzh; iz”kklfud vf/kdj.k }kjk ikfjr vkns”k esa dksbZ le;&lhek fu/kkZfjr ugha dh 

tkrh rks ,sls vkns”k dk] vkns”k dh izkfIr ds------------------eghuksa ds Hkhrj ikyu 

fd;k tkuk pkfg, 

 

(a) 2 

(b) 3 

(c) 4 

(d) 6                                                          

 



56 Which of the following is the condition for allotment of 
government accommodation to the son / daughter of a 
Government Servant who dies while in service and is 
occupying a government accommodation on the date of his 
death? 
 
(a) The son/daughter should have been residing with the 
 Government Servant continuously for the last three years 
 from the date of death of the Government Servant. 
(b) If the eligible dependant is not employed at the time of 
 death, he/she should get an employment in an eligible 
 office within a period of one year from the date of death. 
(c) He/She should apply to the competent authority for 
 allotment within six months from the date of death of the 
 allottee. 
(d) None of the above. ANS 
                      

56 ftl ljdkjh lsod dh lsokdky ds nkSjku e`R;q gks tkrh gS mlds iq=@iq=h dks] tksfd 

ljdkjh lsod dh e`R;q ds le; ljdkjh vkokl easa jg jgk@jgh Fkk@Fkh ljdkjh vkokl 

ds vkcaVu ds fy, fuEu esa ls dkSulh ,d “krZ gS\ 

 

(a) iq=@iq=h ljdkjh lsod dh e`R;q dh rkjh[k ls de ls de fiNys rhu o’kZ ls 

yxkrkj ljdkjh lsod ds lkFk jg jgk@jgh gksA 

(b) ;fn ik= vkfJr e`R;q ds le; jkstxkj esa ugha gS rks mls e`R;q dh rkjh[k ds ,d 

o’kZ ds Hkhrj fdlh ik= dk;kZy; esa jkstxkj izkIr dj ysuk pkfg,A 

(c) vkcaVu ds fy, mls vkcafVrh dh e`R;q dh rkjh[k ds N% eghus ds Hkhrj l{ke 

vf/kdkjh dks vkosnu djuk pkfg,A 

(d) mi;qZDr esa ls dksbZ ughaA 

                                                                     

57 In the event of resignation of an employee from service, the 
permissible period of retention of Government accommodation 
is ___ month(s). 
 
(a) 1 ANS 
(b) 2 
(c) 3 
(d) 6                   
 

57 fdlh deZpkjh }kjk lsok ls R;kxi= fn, tkus dh fLFkfr esa ljdkjh vkokl j[kus dh 

vuqeR; le;&lhek--------------eghus gS 

 

(a) 1 

(b) 2 

(c) 3 

(d) 6                                                           

 

58 Which of the following statements is not correct with regard to 
exemption of House Rent Allowance for the purpose of Income 
Tax? 
 
House Rent Allowance is exempted to the extent of the least of 
the following: 
 
(a) The actual amount of House Rent Allowance received. 
(b) Rent paid in excess of 15% of the salary. ANS 
(c) 50% of the salary if the residence is at New Delhi, 
 Kolkata, Mumbai or Chennai. 
(d) All are correct.            
 

58 vk;dj ds iz;kstu ds fy, edku fdjk;k HkRrs dh NwV ds laca/k esa fuEu esa ls dkSulk 

dFku lgh ugha gS\ 

 

edku fdjk;k HkRrs dks fuEu ds U;wure dh lhek rd NwV izkIr gS 

 

(a) izkIr gq, edku fdjk, HkRrs dh okLrfod jkf”kA 

(b) osru ds 15% ls c<+dj vnk fd;k x;k fdjk;kA 

(c) osru dk 50% ;fn vkokl ubZ fnYyh] dksydkrk] eqacbZ vFkok psUubZ esa gksA 

(d) lHkh lgh gSA 

 

59 The benefit of leave salary of which kind of leave is attached 
with the benefit provided under the provisions of the ESI Act? 
 
(I) Half Pay Leave 
(II) Special Disability Leave 
(III) Maternity Leave 
(IV) Hospital Leave 
 
(a) (I) & (III) 
(b) (II) & (IV) 
(c) (II), (III) & (IV) ANS 
(d) All of the above          
 

59 bZ,lvkbZ vf/kfu;e ds v/khu micaf/kr ykHk ds lkFk fdl izdkj dh NqV~Vh ds NqV~Vh 

osru dk ykHk tksM+k tkrk gS 

 

(I) v)Zosru NqV~Vh 

(II) fo”ks’k fu%”kDrrk NqV~Vh 

(III) izlwfr NqV~Vh 

(IV) vLirky NqV~Vh 

 

(a)  (I) & (III) 
(b)  (II) & (IV) 
(c)  (II), (III) & (IV) 
(d) mi;qZDr lHkh 

 

60 An employee can make a request for alteration of date of birth 
within ________ of his entry into Government service. 
 
(a) six months 
(b) one year 
(c) two years 
(d) five years ANS        
 

60 deZpkjh ljdkjh lsok esa izos”k ds------------------Hkhrj viuh tUe frfFk cnyokus ds 

fy, vkosnu dj ldrk gS 

 

(a) N% eghus 

(b) ,d o’kZ 

(c) nks o’kZ 

(d) ikap o’kZ 

 

61 Which of the following will not be recorded in the books of 
accounts? 
 
(a) Sales of goods. 
(b) Payment of salary. 
(c) Quality of staff. ANS 
(d) All of the above. 
 

61 fuEu esa ls fdls ys[kk cfg;ksa esa fjdkMZ ugha fd;k tk,xk\ 

 

(a) eky dh fcØh 

(b) osru dk Hkqxrku 

(c) LVkQ dh xq.koRrk 

(d) mi;qZDr lHkh 

 



 
62 Book keeping is mainly concerned with __________. 

 
(a) Recording financial data relating to business 
 operations. ANS 
(b) Designing for systems recording, classifying and 
 summarizing recorded data. 
(c) Interpreting data for internal and external users. 
(d) All of the above. 
 

62 cgh[kkrk i)fr eq[;r%-------------------ls lacaf/kr gS 

 

(a) dkjksckjh izpkyuksa ls lacaf/kr foRrh; MkVk fjdkMZ djuk 

(b) vfHkys[kc) MkVk dh flLVEl fjdkfMZax] oxhZdj.k vkSj la{ksi.k ds fy, vfHkdYi 

djuk 

(c) vkarfjd rFkk ckg~; iz;ksDrkvksa ds fy, MkVk dk fuoZpu djuk 

(d) mi;qZDr lHkh 

 

63 Which is the last step of accounting as a process of 
information? 
 
(a) Recording of transaction. 
(b) Preparation of financial statement. 
(c) Communication of information. ANS 
(d) Analysis and interpretation of information. 
 

63 tkudkjh dh ,d izfØ;k ds :i esa ys[kkadu dh vafre dkjZokbZ dkSulh gS 

 
(a) ysunsu fjdkMZ djuk 

(b) foRrh; fooj.k rS;kj djuk 

(c) tkudkjh dk laizs’k.k 

(d) tkudkjh dk fo”ys’k.k vkSj fuoZpu 

 

64 Purchase refers to the purchase of __________. 
 
(a) goods for resale. ANS 
(b) Stationery for office use. 
(c) Assets for the factory. 
(d) None of these. 
 

64 [kjhn dk vk”k;----------------ds fy, [kjhn ls gS 

 

(a) iqu% fcØh ds fy, eky 

(b) dk;kZy;h iz;ksx ds fy, ys[ku lkexzh 

(c) dkj[kkus ds fy, ifjlaifRr;ka 

(d) buesa ls dksbZ ugha 

 

65 A liability arises because of __________. 
 
(a) cash transactions. 
(b) Credit transactions. ANS 
(c) Cash as well as credit transactions. 
(d) None of these. 
 

65 ns;rk---------------------ds dkj.k iSnk gksrh gS 

 

(a) udn ysunsu 

(b) m/kkj ysunsu 

(c) udn vkSj lkFk gh m/kkj ysunsu 

(d) buesa ls dksbZ ugha  

 

66 Machinery is a/an __________. 
 
(a) Asset ANS 
(b) Liability 
(c) Revenue 
(d) Expense 
 

66 e”khujh ,d-------------------gksrh gS 

 

(a) ifjlaifRr 

(b) ns;rk 

(c) jktLo 

(d) O;; 

 

67 Interest received is a/an _____________. 
 
(a) Asset 
(b) Liability 
(c) Revenue ANS 
(d) Expense 
 

67 izkIr C;kt------------------gksrk gS 

 

(a) ifjlaifRr 

(b) ns;rk 

(c) jktLo 

(d) O;; 

 

68 Select the best alternative: 
 
According to the Business Entity Concept 
 
(a) transactions between the business and its owners are not 

recorded. 
(b) transactions between the business and its owners are 

recorded considering them to be one single entity. 
(c) Transactions between the business and its owners are 

recorded from the business point of view. ANS 
(d) None of the above. 
 

68 loksZRre fodYi dk p;u djsa% 

 

dkjksckjh ,afVVh vo/kkj.kk ds vuqlkj 

 

(a) dkjksckj vkSj mlds Lokfe;ksa ds chp ysunsu fjdkMZ ugha fd;k tkrkA 

(b) dkjksckj vkSj mlds Lokfe;ksa ds chp ysunsu mUgsa ,dy ,afVVh ekudkj fjdkMZ 

fd;k tkrk gSA 

(c) dkjksckj vkSj mlds Lokfe;ksa ds chp ysunsu dkjksckjh n`f’V ls fjdkMZ fd;k tkrk 

gSA 

(d) mi;qZDr esa ls dksbZ ughaA 

 

69 Select the best alternative: 
 
According to the Money Measurement Concept 
 
(a) all transactions and events are recorded. 
(b) All transactions and events which can be estimated in 

money terms are recorded in the books of accounts. 
(c) All transactions and events which can be measured in 

money terms are recorded in the books of accounts. ANS 
(d) None of the above. 
 

69 loksZRre fodYi dk p;u djsa% 

 

eqnzk ekiu vo/kkj.kk ds vuqlkj 

 

(a) lHkh ysunsu vkSj ?kVuk,a fjdkMZ dh tkrh gSaA 

(b) ,sls lHkh ysunsu vkSj ?kVuk,a ftUgsa eqnzk ds vFkksZa esa vuqekfur fd;k tk ldrk gS 

ys[kkcfg;ksa esa fjdkMZ dh tkrh gSA 

(c) ,sls lHkh ysunsu vkSj ?kVuk,a ftUgas eqnzk ds vFkksZa esa ekfir fd;k tk ldrk gS] 

ys[kkcfg;ksa esa ntZ dh tkrh gSA 

(d) mi;qZDr esa ls dksbZ ughaA                                              

 



 
70 Which of the following statement is incorrect? 

 
(a) Under the Cash Basis of Accounting, entries in 

 the books of accounts are made when cash is 
 received or paid. 

(b) Accrual Basis is a more appropriate basis for the 
 calculation of profits as expenses are matched 
 against revenue earned in relation thereto. 

(c) Accrual Basis of Accounting gives a true and fair 
 view of the results of operations of business and 
 financial position of the business. 

(d) Cash basis considers the revenue as realized 
 when the goods are produced. ANS 

 

70 fuEu esa ls dkSulk dFku xyr gS 

 

(a) ys[kkadu ds udnh vk/kkj ds v/khu ys[kkcfg;ksa esa izfof’V;ka rc dh tkrh gSa tc 

udnh izkIr gksrh gS ;k vnk dh tkrh gSA 

(b) ykHkksa dh x.kuk ds fy, izksn~Hkou vk/kkj vf/kd mi;qDr vk/kkj gS D;ksafd O;; 

dk] mlds lanHkZ esa vftZr jktLo ds lkFk feyku fd;k tkrk gSA 

(c) ys[kkadu dk izksn~Hkou vk/kkj dkjksckj ds izpkyu vkSj dkjksckj dh foRrh; fLFkfr 

dk lPpk rFkk fu’i{k n`”; izLrqr djrk gSA 

(d) udnh vk/kkj eky ds mRiknu ij izkIr fd, x, jktLo ij fopkj djrk gSA 

 

71 If Assets are Rs. 7,85,000/-, Liabilities are Rs. 1,25,000/- then 
Capital will be ___________. 
 
(a) Rs. 9,10,000/- 
(b) Rs. 6,60,000/- ANS 
(c) Rs. 10,35,000/- 
(d) Rs. 5,35,000/- 
 

71 ;fn ifjlaifRr;ka #-7]85]000@& gS] ns;rk,a #-1]25]000@& gSa rks iwath---------------

-------gksxh 

 

(a) # 9,10,000/- 
(b) # 6,60,000/- 
(c) # 10,35,000/- 
(d) # 5,35,000/-                                                    

 

72 A sales of goods to Ram for cash is debited to 
 
(a) Ram A/c 
(b) Cash A/c ANS 
(c) Sales A/c 
(d) None of the above. 
 

72 jke dks udn :i esa cspk x;k eky fuEukuqlkj ukes Mkyk tkrk gS% 

 

(a) jke [kkrk 

(b) udnh [kkrk 

(c) fcØh [kkrk 

(d) mi;qZDr eas ls dksbZ ugha 

 

73 A withdrawal of cash from business by the proprietor is 
credited to 
 
(a) Drawings A/c 
(b) Capital A/c 
(c) Cash A/c ANS 
(d) Profit and Loss A/c 
 

73 ekfyd }kjk dkjksckj ls fudkyh xbZ udnh fuEu esa tek dh tkrh gS 

 

(a) fudklh [kkrk 

(b) iwath [kkrk 

(c) udnh [kkrk 

(d) ykHk vkSj gkfu [kkrk 

 

74 Which of the following statement is correct? 
 
(a) Debit means an increase in liability and decrease in an 

asset. 
(b) Discount allowed to customer is an expense for business. 

ANS 
(c) A sale of old furniture to Paresh for cash should be 

debited to Paresh’s Account. 
(d) All are correct. 
 

74 fuEu esa ls dkSulk dFku lgh gS\ 

 

(a) ukes Mkyus dk vFkZ nsr;k esa o`f) vkSj ifjlaifRr esa o`f) gSA 

(b) xzkgd dks nh tkus okyh NwV dkjksckj ds fy, [kpZ gSA 

(c) ijs”k dks udn :i ls cspk x;k QuhZpj ijs”k ds [kkrs ds ukes Mkyk tkuk 

 pkfg,A 

(d) lHkh lgh gSA 

 

75 Which of the following statement is incorrect? 
 
(a) Credit means an increase in asset and decrease in 

liability. ANS 
(b) Increases in assets are debits and decreases in assets 

are credits. 
(c) Increase in incomes or profits are credits and decreases 

in incomes or profits are debits. 
(d) All are incorrect. 
 

75 fuEu esa ls dkSulk dFku xyr gS\ 

 

(a) tek dk vFkZ ifjlaifRr esa o`f) vkSj ns;rk esa deh gSA 

(b) ifjlaifRr;ksa esa o`f) MsfcV gksrh gS vkSj ifjlaifRr;ksa esa deh tek gksrh gSA 

(c) vk; vFkok ykHk esa o`f) tek gksrh gS rFkk vk; vFkok ykHk esa deh MsfcV gksrh 

 gSA 

(d) lHkh xyr gSA 

 

76 Which of the following is a Real Account? 
 
(a) Land 
(b) Investments 
(c) Building 
(d) All of the above. ANS 
 

76 fuEu esa ls dkSulk ,d laifRr ys[kk gS\ 
 

(a) Hkwfe 

(b) fuos”k 

(c) Hkou 

(d) mi;qZDr lHkh 

 

77 Which of the following is not an asset? 
 
(a) Plant & Machinery 
(b) Accrued Income 
(c) Goodwill 
(d) All of the above are assets. ANS 
 

77 fuEu esa ls dkSu ,d ifjlaifRr ugha gS\ 

 

(a) la;a= vkSj e”khujh 

(b) izksn~Hkwr vk; 

(c) lquke 

(d) mi;qZDr lHkh ifjlaifRr;ka gSaA 

 



78 Which of the following transactions will be entered on the debit 
side of the Cash Account? 
 
(a) Paid salaries 
(b) Sold Goods ANS 
(c) Paid Rent 
(d) Drew for personal use. 
 

78 fuEu esa ls dkSuls ysunsu dks udnh [kkrs ds ukes i{k ds v/khu ntZ fd;k tk,xk\ 

 

(a) iznRr osru 

(b) cspk x;k eky 

(c) iznRr fdjk;k 

(d) oS;fDrd iz;ksx ds fy, fudklh 

 

79 Ledger is called a book of ___________. 
 
(a) primary entry 
(b) Secondary entry ANS 
(c) Final entry 
(d) None of the above. 
 

79 ystj-------------------------dh ,d cgh dgykrh gS 

 

(a) izkFkfed izfof’V 

(b) xkS.k izfof’V 

(c) vafre izfof’V 

(d) mi;qZDr esa ls dksbZ ugha 

 

80 Business transactions are recorded ____________. 
 
(a) in chronological order ANS 
(b) weekly 
(c) at the end of the month 
(d) none of the above 
 

80 dkjksckjh ysunsu------------------ds vuqlkj fjdkMZ fd, tkrs gSa 

 

(a) dkyØekuqlkj 

(b) lkIrkfgd 

(c) eghus ds var esa 

(d) mi;qZDr esa ls dksbZ ugha 

 

81 A compound Journal entry___________. 
 
(a) has equal debits and credits ANS 
(b) generally extends to several pages 
(c) does not require narration 
(d) None of the above 
 

81 ,d daikmaM tujy izfof’V esa 

 

(a) cjkcj ds MsfcV vkSj tek gksrs gSa 

(b) bldk foLrkj vkerkSj ij vusd i`’Bksa rd gksrk gS 

(c) o.kZu dh t:jr ugha gksrh 

(d) mi;qZDr esa ls dksbZ ugha                                              

 

82 The Journal entry to record sale of service on credit should 
include _________ 
 
(a) debit to cash and credit to debtors. 
(b) Debit to fees income and credit to debtors. 
(c) Debit to debtors and credit to fees income. ANS 
(d) None of the above. 
 

82 lsok dh m/kkj ij fcØh laca/kh tuZy izfof’V esa------------------“kkfey gksuk pkfg, 

 

(a) udnh dks MsfcV rFkk nsunkjksa dks tek 

(b) Qhl vk; dks MsfcV rFkk nsunkjksa dks tek 

(c) nsunkjksa dks MsfcV rFkk Qhl vk; dks tek 

(d) mi;qZDr eas ls dksbZ ugha                                       

 

83 Which of the following statement is correct? 
 
(a) A Ledger is the principal book of accounts. ANS 
(b) A Ledger is not prepared from a Journal. 
(c) Paid wages – here Wages Account will be credited. 
(d) All are correct. 
 

83 fuEu esa ls dkSulk dFku lgh gS\ 

 

(a) ystj ys[kkvksa dh iz/kku cgh gksrh gS 

(b) ystj] tuZy ls rS;kj ugha fd;k tkrk 

(c) iznRr etnwjh & ;g etnwjh ys[ks esa tek fd;k tk,xk 

(d) lHkh lgh gS                         

 

84 The balance in the Petty Cash Book is ___________ 
 
(a) an expense. 
(b) a profit. 
(c) an asset. ANS 
(d) None of these. 
 

84 [kqnjk jksdM+ cgh esa “ks’k-------------gksrk gS 

 

(a) ,d O;; 

(b) ,d ykHk 

(c) ,d ifjlaifRr 

(d) buesa ls dksbZ ugha 

 

85 If Ram has sold goods for cash, the entry will be recorded 
____________. 
 
(a) in the Cash Book ANS 
(b) in the Sales Book. 
(c) In the Journal Paper. 
(d) None of the above. 
 

85 ;fn jke us eky udn :i esa cspk gS rks izfof’V----------------esa fjdkMZ dh tk,xh 

 

(a) jksdM+ cgh esa 

(b) fcØh cgh esa 

(c) tuZy isij esa 

(d) mi;qZDr esa ls dksbZ ugha 

 

86 A Trial Balance is ____________ 
 
(a) a statement. ANS 
(b) A summary. 
(c) An Account. 
(d) None of these. 
 

86 -------------------“ks’k ijh{k.k gksrk gS 

 

(a) ,d fooj.k 

(b) ,d lkj 

(c) ,d ys[kk 

(d) buesa ls dksbZ ugha 

 



 
87 A Trial Balance shows __________ 

 
(a) only credit balance. 
(b) Only debit balance. 
(c) Both debit and credit balances. ANS 
(d) Either debit or credit balance. 
 

87 “ks’k ijh{k.k-------------n”kkZrk gS 

 

(a) dsoy tek “ks’k 

(b) dsoy MsfcV “ks’k 

(c) MsfcV rFkk tek && nksuksa dk “ks’k 

(d) ;k rks MsfcV vFkok tek “ks’k 

 

88 A Bank Reconciliation Statement is prepared _____________ 
 
(a) to know the payments made through cheques. 
(b) To know the errors in the Pass Book. 
(c) To compare the Cash Book with Pass Book and 

ascertain the differences. ANS 
(d) None of the above. 
 

88 cSad lek/kku fooj.k----------------------ds fy, rS;kj fd;k tkrk gS 

 

(a) psdksa ds ek/;e ls fd, x, Hkqxrku tkuus ds fy, 

(b) iklcqd esa xyfr;ka tkuus ds fy, 

(c) jksdM+ cgh dk iklcqd ls feyku djus vkSj varj dk irk yxkus ds fy, 

(d) mi;qZDr esa ls dksbZ ugha                         

 

89 Select the best alternative. 
 
Depreciation arises because _________. 
 
(a) wear and tear ANS 
(b) inflation 
(c) fall in the value of the asset 
(d) None of the above. 
 

89 loksZRre fodYi dk p;u djsa 

 

ewY;gzkl------------------ds dkj.k iSnk gksrk gS 

 

(a) VwVQwV 

(b) eqnzkLQhfr 

(c) ifjlaifRr ds ewY; esa fxjkoV 

(d) mi;qZDr esa ls dksbZ ugha                                               

 

90 The loss on sale of an asset is debited to _____________. 
 
(a) reserves 
(b) depreciation fund 
(c) Profit and Loss Account ANS 
(d) None of the above. 
 

90 fdlh ifjlaifRr dh fcØh ij gqbZ gkfu---------------ds ukes Mkyh tkrh gS 

 

(a) vkjf{kr 

(b) ewY;gzkl fuf/k 

(c) ykHk vkSj gkfu ys[kk 

(d) mi;qZDr esa ls dksbZ ugha 

 

91 Which of the following statement is correct? 
 
(a) Depreciation cannot be provided in case of loss in a 

financial year. 
(b) Depreciation is the process of valuation of asset. 
(c) Depreciation is a non-cash expense. ANS 
(d) All are correct. 
 

91 fuEu esa ls dkSulk dFku lgh gS\ 

 

(a) fdlh foRrh; o’kZ esa gkfu gksus ij ewY;gzkl dk izko/kku ugha fd;k tk ldrk 

(b) ewY;gzkl ifjlaifRr ds ewY;kadu dh izfØ;k gS 

(c) ewY;gzkl ,d xSj&udnh O;; gS 

(d) lHkh lgh gS                                                   

 

92 A Provision is a __________. 
 
(a) External transaction 
(b) An appropriation out of profits. 
(c) Charge against the profits. ANS 
(d) None of these. 
 

92 ,d izko/kku-----------------gksrk gS 

 

(a) ckg~; ysunsu 

(b) ykHk esa ls ,d fofu;kstu 

(c) ykHk ds izfr izHkkj 

(d) buesa ls dksbZ ugha 

 

93 Rs.2,000/- paid as wages for erecting a machine should be 
debited to __________. 
 
(a) Wages Account 
(b) Machinery Account ANS 
(c) Capital Account 
(d) Cash Account 
 

93 e”khu [kM+h djus ds fy, etnwjh ds :i esa vnk dh xbZ #-2000@& dh jkf”k----------

----ds ukes Mkyh tk,xh 

 

(a) etnwjh [kkrk 

(b) e”khujh [kkrk 

(c) iwath [kkrk 

(d) udn [kkrk 

94 On purchase of old furniture, the amount of Rs.1,000/- spent 
on its repairs should be debited to ______________. 
 
(a) Repairs Account. 
(b) Furniture Account ANS 
(c) Cash Account 
(d) None of the above. 
 

94 iqjkus QuhZpj dh [kjhn ij] mldh ejEer ij [kpZ dh xbZ 1000 #i, dh jkf”k-------

---ds ukes Mkyh tk,xh 

 

(a) ejEer [kkrk 

(b) QuhZpj [kkrk 

(c) udn [kkrk 

(d) mi;qZDr esa ls dksbZ ugha 

95 Sales are equal to ___________ 
 
(a) Cost of Goods Sold + Gross Profit. ANS 
(b) Cost of Goods Sold – Gross Profit. 
(c) Gross Profit – Cost of Goods Sold 
(d) Cost of Goods Sold + Net Profit 
 

95 fcØh-----------------ds cjkcj gksrh gS 

 

(a) csps x, eky dh ykxr$ldy ykHk 

(b) csps x, eky dh ykxr&ldy ykHk 

(c) ldy ykHk&csps x, eky dh ykxr 

(d) csps x, eky dh ykxr$”kq) ykHk 

 



96 Rs.1,200/- spent on the repairs of machine is a ___________ 
Expenditure. 
 
(a) Capital 
(b) Revenue ANS 
(c) Deferred Revenue 
(d) None of the above 
 

96 e”khu dh ejEer ij [kpZ dh xbZ #-1200@& dh jkf”k ,d-----------O;; gS 

 

(a) iwathxr 

(b) jktLo 

(c) LFkfxr jktLo 

(d) mi;qZDr esa ls dksbZ ugha 

 

97 Depreciation is provided on ______________. 
 
(a) Current Assets 
(b) Intangible Assets 
(c) Fixed Assets ANS 
(d) All of the above. 
 

97 ewY;gzkl dk izko/kku--------------ij fd;k tkrk gS 

 

(a) pkyw ifjlaifRr;ka 

(b) vewrZ ifjlaifRr;ka 

(c) fLFkj ifjlaifRr;ka 

(d) mi;qZDr lHkh 

 

98 The Manager is entitled to commission of 5% on profits before 
deducting the commission. The profit is Rs.2,100/-, therefore, 
the commission will be ___________. 
 
(a) Rs.100 
(b) Rs.105 ANS 
(c) Rs.110.53 
(d) None of the above. 
 

98 izca/kd deh”ku dkVus ls igys ykHk esa ls 5% deh”ku ikus dk gdnkj gSA ykHk #-2100 

gS blfy, deh”ku gksxk 

 

(a) #-100 

(b) #-105 

(c) #-110.53 

(d) mi;qZDr esa ls dksbZ ugha 

 

99 Stock is valued at ____________. 
 
(a) cost price 
(b) market price 
(c) cost or market price whichever is less ANS 
(d) None of the above 
 

99 LVkd dk ewY;kadu--------------ij fd;k tkrk gS 

(a) Ø; ewY; 

(b) cktkj ewY; 

(c) Ø; ewY; ;k cktkj ewY;] tks Hkh de gks 

(d) mi;qZDr esa ls dksbZ ugha                                         

 

100 The Receipts and Payment Account is a summary of 
________________. 
 
(a) Debit and Credit balances of Ledger Account. 
(b) Cash receipts and payments. ANS 
(c) Income and Expenses 
(d) All of the above. 
 

100 izkfIr vkSj Hkqxrku ys[kk-----------------dk lkj gksrk gS 

 

(a) ystj [kkrs ds MsfcV vkSj tek “ks’k 

(b) udn izkfIr;ka rFkk Hkqxrku 

(c) vk; vkSj O;; 

(d) mi;qZDr esa ls lHkh 

 

 
 
 
 
 


